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1. Answer the following as directed : 1x8=8

(a) Which of the following is not considered
as an indicator of social well-being?

(i Female literacy
(i) Domestic assets
(iii) Crime
(iv) Infant mortality rate
( Choose the correct answer )
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(2)

(b) Which of the following criteria is not
used for the classification of human
races?

(i) Eyes
(ii) Nose
(iii) Ear
(iv) Hair
( Choose the correct answer )

(¢) The Gujjar and Bakarwal tribes are
mostly found in the State of Jammu
and Kashmir / Punjab / Haryana /
Rajasthan.

( Choose the correct answer )

(d) Dr. B. S. Guha has classified the Indian
races into six groups.

( Write True or False )

(e) The condition of the society in which
the needs and wants of population are
met is called _

( Fill in the blank )

(f/ An ideology in which society is divided
into religious communities and opposed
to each other is known as individualism
/ communalism [/ religionism |/
monotheism.

( Choose the correct answer )
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(3)

(g) Slums are considered as an impact of
urbanization and industrialization.

( Write True or False )

(h) The headquarters of National Crime
Records Bureau is located in

( Fill in the blank )
2. Write on any four of the following (within
200 words each) : 4x4=16
(a) Role of technology in social change
(b) Difference between caste and clan
(¢) Gender issues in Indian society
(d) Problems of slums in India
(e) Difference between social inclusion and

social exclusion

3. Discuss the concept, nature and scope of

social geography. 4+5+5=14
Or

Define social geography. Discuss the origin

and scope of social geography. 4+5+5=14

4. What is race? What are the bases for

division of various races of the world?
2+12=14

Or

What do you understand by caste? What are
the bases for the division of caste in India?
2+12=14 -
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(4)

5. What does well-being mean in geography?
Give an account of the types and
components of well-being. 2+6+6=14

Or

Discuss the concept and components of
healthcare, housing and education. 14

6. Discuss the causes and consequences of
communal conflicts in India. Suggest some
preventive measures to mitigate it. S5+5+4=14

Or

What do you understand by gated
communities? Write a note on the inclusion
and exclusion of social geographies.  4+5+5=14
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